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QUESTION 1

You have performed an upgrade on a customen\\'s HCP. You complete the upgrade and verify that all the nodes are
online and then give the system back to the customer. A few minutes later, the customer complains that they can read
existing content but they cannot create new content on the HCP. Which step was missed?

A. The install user password was changed.

B. The upgrade was not committed.

C. The rollback was not performed.

D. The system management console is disabled.

Correct Answer: B

QUESTION 2

What is a valid HCP configuration?

A. 2 node HCP 300 with RAID 5 (5+1) DPL2
B. 4 node HCP 300 with RAID 6 (5+2) DPL2
C. 4 node HCP 500 with RAID 5 (5+1) DPL2
D. 4 node HCP 300 with RAID 5 (5+1) DPL2

Correct Answer: D

QUESTION 3

A customer has a HCP that is becoming full. They wrote data with a four week retention period and have not written any
data in the last six months. They want to enable the disposition service. What will happen?

A. Disposition would delete every object in the default namespace.

B. Disposition would delete every object.

C. Disposition would not delete any object.

D. Disposition would duplicate every object in the default namespace.

Correct Answer: B

QUESTION 4

A customer wants to archive e-mail directly from their Windows Exchange servers into a HCP. Which two capabilities of
the HCP would interest this customer? (Choose two.)
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A. HCP supports direct ingestion of e-mail using the SMTP protocol.

B. HCP supports direct ingestion of e-mail using the CIFS protocol.

C. The HCP protocol supporting direct e-mail ingestion supports up to 50 attachments per e-mail.
D. The HCP protocol supporting direct e-mail ingestion supports up to 32 attachments per e-mail.

Correct Answer: AC

QUESTION 5

Driven by business demand, an existing HCP customer created a new tenant named CREATIVE. Which statement is
correct about the CREATIVE tenant?

A. It has its own administrative user account with the security role.
B. It has the same system level access as the default tenant.

C. It does not have its own administrative user account.

D. Its system level access is different from the default tenant.

Correct Answer: A

QUESTION 6

A 4-Node HCP with 40 users is being managed using the single administrator function. Two new users,
each from a different department, need to access data in two HCP tenants named:

Financials Payable and Financials Receivable. Which action should the administrator perform to make this
happen?

A. Create two new user accounts with security permissions.

B. Create default accounts named Financials Payable and Financials Receivable for each user.

C. Create a data access account for each user.

D. Create two system administration accounts.

Correct Answer: C

QUESTION 7
A customer recently acquired a HCP system. They will be ingesting 500,000 objects (office documents) from their

existing Windows file server environment to the HCP default tenant. Which two HCP protocols can be used? (Choose
two.)
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A HTTP
B. CIFS

C. NDMP
D. SNMP

Correct Answer: AB

QUESTION 8

In the event of a HCP 500 node failure, which LUN configuration will protect access to a given set of data LUNs?
A. dynamic multi-pathing

B. Data Protection Level 2

C. Zero Copy Failover

D. HCP LUN replicator

Correct Answer: C

QUESTION 9
A company\\'s finance and legal departments do not share any data and should not be able to access each other\\'s
data; The legal department only accesses data using an application that is integrated with HCP using REST. The

finance department requires users to be able to browse data using Windows Explorer. What do you tell the customer?

A. The finance department should be setup as the default namespace and the legal department should have their own
namespace.

B. The finance and legal departments should use the default namespace.

C. The finance department should have their own namespace and the legal department should use the default
namespace.

D. The finance and legal departments should use different directories in a single namespace.

Correct Answer: A

QUESTION 10

A customer has recently purchased a HCP 500. You will be performing the install. Which two describe how many LUNs
per node are required for installation? (Choose two.)

A.10S LUN

B. 4 OS LUNs
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C. 2 data LUNs
D. 4 data LUNs

Correct Answer: AC

QUESTION 11

A customer wants to integrate a HCP into their Windows Active Directory environment. They want to use Active
Directory for authentication of 27 users. Which two actions should be performed by the customer? (Choose two.)

A. Upload a username mapping file to the HCP with associations for the required users.

B. Create 27 users in the HCP with usernames identical to those used in the Active Directory.
C. Configure the HCP to use Active Directory authentication.

D. Create a security group in Active Directory then add the names of 27 desired users.

Correct Answer: AC

QUESTION 12

A customer has a new HCP 500 with 10 storage nodes and 5 search nodes to be configured using the default
configuration. How many LUNSs will be cross-mapped if you are asked to configure switch zoning to support Zero Copy
Failover?

A. 15

B. 20

C.30

D. 45

Correct Answer: B

QUESTION 13

In which two locations can HCP documentation be found? (Choose two.)
A. the HCP GuUI

B. the knowledge base on the HDS customer portal

C. the HCP distribution CDs

D. HiFire

Correct Answer: AC
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QUESTION 14

Which two are needed to perform a HCP upgrade? (Choose two.)
A. PuTlyY

B. system management console

C. SSH keys

D. administrator password

Correct Answer: AC

QUESTION 15

A customer has integrated the HCP tenant with Enterprise Vault 9.0 (EV9) for Microsoft Exchange 2007.
The EV9 server reads and writes from the HCP without any problem. The

customer would like to grant read access to a few users from certain machines for EV9 backup objects.
Which two actions should the customer perform? (Choose two.)

A. Configure the proper CIFS and NFS settings on the HCP.

B. Configure the proper settings on the EV9.

C. Configure the proper HTTP settings on the HCP.

D. Configure the proper SMTP settings on the HCP.

Correct Answer: BC
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